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The Mishnah taught; it is as difficult as the weight — jan swRwn2 WP

OVERVIEW

The mwn stated if one rented a donkey' to carry wheat,” but he actually carried
barley on it (and the animal was injured) the 7212 is liable, for the volume (192) is
as difficult for the animal to handle as is the weight (xwn); this is the text
according to »ax ("Xwna mwp noiw).* According to X217 the text in the mwn reads
NRWnD WP 1937w that the volume contributes to the Weight5 (but not that it is the
equivalent of weight, as »aX maintains). M50 explains the 71wn according to both
views.
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According to »2aR the 89°0 of the mwn», which states; how much does he need to

add, in order to be liable’, comes to explain the RXw>-.
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[And according to 829 the Xws9], which states, ‘he was to bring wheat on the

donkey, but instead he brought barley on it’ (where he is 2) -
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That is in a case where the weight of the barley was like the weight of a o°vn n?,
which means he added a 189, as is evident in our X973; in this case he is 297, for
the greater volume is an additional burden which the donkey cannot bear.

A donkey can bear the load of a 7n% (fifteen 7x0) of wheat. If one adds three Pap (half a 7%0) more to the load, he is
liable for damages to the donkey. The 27,780 ,7n? are measures of volume (not weight).
* Wheat is more compact and heavier than barley. A 7n% of wheat weighs more that a 70> of barley.
? This means that it is just as difficult for a donkey to carry a 0% of 2w (which is lighter) as it is to carry a 0% of
o°vr (which is heavier), since they both have the same volume and “Xwn2 Awp 7917
* According to »ax if one would add three more ap of barley to the In% of barley (one thirtieth more), he would be
liable (see footnote # 1), even if the total weight is less than a 7n? of o°vn.
> According to X2 the 791w will not be liable unless the total weight of the barley is (at least) equal to the weight of
a o°vn In? (by adding a R0 [six 1"3p]). He is liable because the additional volume (alone) is difficult for the animal
to bear (even though it can carry that weight in a smaller volume of a o°vn n%).
% The x> stated that if he substituted 71Www for 1°0n he is liable. It obviously cannot mean that he loaded the donkey
with a 0% of 0™ Www instead of a 0°vn In? that he is 21, for he lightened the load. The R9°0 of the mwn explains that
the Xw™ (which says 2n) is in a case where he added (a 9137 nX0 or) three 12p for a 1 mn. See footnote # 4. [This
X5°0 can also be referring to a case where the 715w did not change (see footnote # 14).]
7 The meaning (according to X27) of PMYw X°am un X°277 is that he brought the same weight of 1 Ww as is the
weight of a 1vn n?; meaning he brought sixteen Pww nXo instead of fifteen 1vn 7X0. Obviously the 1 ww had a
greater volume.
% See the X113 on this Ty, which states XD X2 ,1°2p NWHY XY "Xy,
? See footnote # 5.
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mMdOIN continues to explain the rest of the mwn» according to 821:'°
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‘He was to bring a 1un 7nb, but he brought a 29y Tnb instead, he is 21W’; this

ruling is valid (according to X27) -
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Even if he added three y°3p (over the 7n%) for a donkey, since there is no
‘weight (of vW) like the weight (of pvn)’.

moon explains the end of the 71wn:
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And in a case where he did not change, but he brought the kind which they
agreed upon, ‘how much does he need to add on his load and be liable; a x®
for a camel, etc. and three 1°2p for a donkey’.

SUMMARY
The X9°0 according to >ax explains the X1 (also), while according to X217 the X2°0
is only in a case where he did not change from v°17 to PWW.

THINKING IT OVER
Why is moown explaining the (rest of the) 7awn according to %37, but not
according to »ax?'°

' See “Thinking it over’.
" moon is responding to the anticipated question since according to X271 the Xw™ states the he is 21 only if the
WY weigh as much as the v n, meaning that there is more than a P 0%, so why is it necessary to write in this
case that if there was a 1"Ww n> he is Mwo? It is obvious, since it is less weight that a 1vr 7n°.
2 However according to »ax he will be liable if he added three 12p to the n%. According to X271, the mwn is
rejecting the view of »ax (this explains the question on footnote # 11).
¥ According to X217 the extra volume poses no problem if the weight of the barley is less than the weight of the
wheat. They weigh the same when he adds a 780 (six 1°3p) to the 0%, but not three 1°2p.
' This is true according to »ax as well (see footnote # 6) that if he did not change, etc. however the same rule
applies (even) if he did change from a heavier load (1°v°n) to a lighter load (3"1ww) that he is liable for an additional
three 1°2p.
1% See footnote # 10.
16 See (1"7v) in TN WION XX # 29.
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